8.4 Properties of Logs Part 1 2024.notebook

WARM UP - Calculator

1) If you invest $4500 in an account that earns 3.2% per
year, how much will you hage in the account after 15 years?
= 4s00(1.0%)"

is growing at a rate of 2.4% per year. What is the predicted
population in 6 years?

3y t220(1- o24)"
Evaluate each. No calculator.

3) log,s125

= 2. s l +32%
2) The population of a small town in Colorado is 8320 and | +.6%2

4) 108100 10=x  No calculator.

o 7) GRAPH:
25 z125 wo =
5 .5’-921.- 10°* =10 ‘o anzy VT log3(x 4)
5) 1 %) ®*$State the asymptote.
10g32— =y log16 =% 0.
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PROPERTY EXAMPLE(S) RULE with
R.pq(l‘b) logi1= O log,1= O IDjb‘ =0 Vv
Foundations
Re=p (bi1) | l0g,2" ot -
2"=2
x= |
Product log:(8) = log:2 + log:4 log b(HN) =log M +log N v4
2 dacarmine et sy
quotient | 1045 = loga-log3
! log. ¥ = 09, M =1og N v
Power log5’ = 2l0g5 g M" = Nig M |
one- log.x = log,5 ’oﬂbM = ID‘-’llaM J
then x =5 M=N
Change _ loq8 log,
Base of log 3= —,?57-5_ logsa = Iggﬂg v

Feb 9-1:01 PM
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8.4 Properties of Logarithms

Let all variables be positive numbers, and b#1.

 Product property:
logp, MN = logpy M + log, N

243

L M AR Y

 Quotient property:
IOgb M = IOgb M — |Ogb N

N 4
{W= ;lod\ = {5 =t

log, M¥= x log, M
\bg,m = |om m*\o:,_m rlwm. . .- X '05|,m

Mar 1-2:28 PM

Expanding Logarithms

You can use the properties to expand logarithms.

7x> : 753 T
lOgZ y2 ng [—y
|0 z(-’xs "Ib z( 2) ‘)rodvd-rulc | .'axs
30 18 o (1

I05,1 +@ oo, %M.l.;“{-mlb

lw,\ +3log,n -R|0%y  exponent rule \
log, 7" + 109, %"~ log,y?

2log;1 4 b log, - 2109,

Mar 1-2:31 PM



8.4 Properties of Logs Part 1 2024.notebook February 12, 2024

Your turn: L
1) Expand: Icg 5\/,,33' =

log 5 (30)°

\03 ‘5(53"‘0:i

\0(55 +\635‘i'" \%Q’L

\035 \-)5_|°33 h‘ﬁ,log&
& log 5+ 1/2(log 3 + log a)
2) Expand: |098 3 =

10953 +554x* 1+ 3-logex

| +3loqyX

Mar 1-2:32 PM

Write as a single log. (Condensing)

Example:
Need to have Same ba-sc

log 6 +2)log 2 — log 3 =
g @ logDele
093
log 3

Mar 1-2:29 PM
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Your turn! Write as a single log (condense)

3) logs 7 +Blogs t'=
logn + loast’ logs7t3
1o9s(7t*)

s 3logox — (log.4 + logay)=
3109, % - 1004~ | Do),y

Mar 1-2:30 PM

"co covaars |

HW - Google Math Lib located in the
google classroom. Be sure to write the
sentence at the bottom of the form.

Aug 29-11:17 AM
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